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QUESTION 1

In a Cisco Unified MPLS for IP MBH network architecture the route scale is managed by the IGP route redistribution is? 

A. not distributed access IGP route to the Core 

B. redistributed access IGP route to the Core 

C. by using different IGP routing protocol between the Access and the Core 

D. doing some route summarization false 

Correct Answer: A 

 

QUESTION 2

What can PTP be used to synchronize? 

A. Time, frequency, phase 

B. Rate 

C. Phase, time 

D. Frequency 

Correct Answer: A 

 

QUESTION 3

What does virtualization of the core route reflectors do? 

A. limit the availability 

B. does not enhance resiliency 

C. enhance resiliency or availability 

D. adds complexity 

Correct Answer: C 

 

QUESTION 4

What are three purposes of partitioning the backhaul network into independent IGP domains? (Choose three.) 

A. to not enhance stability 

B. to reduce the size of the routing and forwarding tables on individual routers 
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C. to ensure that reachability is not possible between domains 

D. to not ensure stability 

E. faster convergence 

F. to enhance stability 

Correct Answer: BEF 

 

QUESTION 5

Which technology uses two or three antennas to receive (input) the signal and two or three radios to transmit (output),
plus special signal processing to improve range, reliability, and throughput. 

A. HSPA 

B. CDMA 

C. LTE 

D. MIMO 

Correct Answer: D 
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